	Name: ____________________________	Quick 10 – week 2
	1
3x9 =_____

2/5 of  £60 = _______

Convert 12.00pm to 24hr time = _________

Round 5832 to n.1000 = 
_______

How many cm in 7.1m?
_________

How many minutes in 4 hours? ____________

What is the sum of 92, 23 and 104? ________

Name a 2D shape with 6 sides? ____________

Round 1.453 to 1d.p.


6.3 ÷ 7 = _________
	2
52 x 6 = ____

¼ of 160g = ___________

Calculate duration between 1847 to 2235.
____________

Round 44,677 to n.1000
_____________

0.3 x 6 = ______


How many g in a kg? ____________


Find the product of 6 and 7
____________




Properties of a cone?
______________
_____________
_____________
_____________

What is the difference between £842 and £531.05?



22.6 x100 = ______________
	3
Partition 18,842
_____________
_____________

686 x 8 = _____________

If 1litre of milk costs 80p, how much for 2.5 litres?


Find the product of 12 and 7
____________

X - 5 = 38
X = ______


420 ÷ ____ = 7

Convert 0222 to 12 hour time.
____________





How many days are there in total in May and June? ____________

4.2x 5 = _____________

How many minutes in 2/4 of an hour?
____________
	4
Share £80 exactly between 5 children.


841 ÷1000 = ______

38.5 + 4.7 = ________

How many halves in a 7 wholes?
____________

23 – 5.67 = ___________

3.78 ÷7 = ______

What is 3.1m in cm?
_______________
______________

Decrease 0.8litres by 175ml
_____________




7hrs 15 min is equal to how many minutes? 
	



How many faces does a tetrahedron have? _______________
	5
Add 2 hundredths to 1.54
___________


Add 4 tenths to 58.05


Find 2/7 of £490
_____________

£0.67 x 9 = _____________

534g + 52g + 42g = ___________

Add 7 to 3 squared. ____________

Decrease £46.64 by £16.20 ______________





Write 5/10 as a decimal fraction.
____________

3.2kg x 100 = _____________

	6
Write 3.44m to the nearest metre.
____________

Which coins add together to make £7.24?
___________
___________
___________

24 x 6= _______

How many 20 pences in £4.60?
____________

0.4 + 0.24 + 6.3 = _____________

A square has sides 2.6cm, what is the perimeter?
_____________





What number is 56 greater than 4677?
____________
____________

17th April is a Tuesday, which day is 29th April?
____________

Find the area of a playground 34m long and 18 m wide?


Which is smaller?
0.7 or 2/3?

____________
	7
68 x 30 = _____

Write in figures, forty two thousand and sixty five?
_____________

4574 – 700 = ____________

The angles in a triangle always add up to 180 degrees. One angle is 20 degrees; one is 89 degrees, what is the size of the third angle? ________

1002 ÷ 6 = _____________

¼ of 24,000 = ______________

7 hours 10mins + 55 mins = _____________

X= 7 and y = 6

2x - y = _______


1/10 as a decimal = ___________

13.5 – 6.87 = _________
	8
6 weeks 5 days = ________ days

1/4 of £280 = ____________

8 minutes 34 seconds = _________ secs.

5679 + _____ = 15,000

0.24 x 6 = ______

How many right angles in 90 degrees?
____________

If 6x = 42
x = ________


6₃ = __________

3.455 + 2.46 = ___________

[bookmark: _GoBack]5.34 ÷ 10 = ____________




